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To find 2 + 2, put your
finger on the 2 in the first row. Then find the 2 in the first column. Follow the arrows until they meet at the number 4. So, the sum of 2 + 2 is 4.

You can also use the addition table to find which two numbers equal a sum. Put your finger on any square inside the table with the number 10. Follow the arrows to the numbers 4 and 6. So, 4 + 6 = 10.
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Grade 3 • Chapter 2 Addition
11
Colton bought a movie ticket for $8 and a bag of popcorn for
$4. Find how much Colton spent in all. Write two number sentences.
4.
Wyatt read 6 books in January and 7 books in February. Find
the total amount of books that Wyatt read. Write two number sentences.
3.
Write 3 number sentences to show the sum of 18.
2.
Which two addends make a sum of the shaded 15? Write the
number sentence.
1.
Use the addition table.
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You can use an addition table to find sums.
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Patterns in the Addition Table
Name 	 Date 	

